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This device is used for measuring the length of the cloth, paper, plastics etc.
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It is long life and stable because of its photoelectric output.
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It is made of Nicke1-Zinc alloy, it is weightily and does not hydroplane.
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The wheel latex adopts the import tire latex, so it is durable.
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M5 Item NO | & A #47 Unit Output Type Output Impedance | Current Consumption | Output Current | Power Supply
PL-S1M(Y) 1m(1Y) M single-phase 2.7K 25mA 150mA 12-24V
PL-S2M(Y) 10cm(0.1Y) | HuAl single-phase 2.7K 35mA 100mA 12-24V
PL-S3M(Y) | 1cm(0.01Y) | il single-phase 2.7K 35mA 100mA 12-24V
PL-S4M 1m M single-phase 2.7K 35mA 100mA 12-24V
PL-D2M(Y) 10cm(0.1Y) | AB 4l 90°AB phase Quadrature 2.7K 70mA 100mA 12-24V
PL-D3M(Y) 1cm(0.01Y) AB #1 90°AB phase Quadrature 2.7K 70mA 100mA 12-24V
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X DR AR N 87.3mm 5 45T 0.3 Jefit)
The British system: The diameter of wheel is 87.3mm.(The circumference of a circle is equal to 0.3 yard.)
X OAHERRE HAR N 95.5mm 5 45T 0.3 A1)
The decimal system: The diameter of wheel is 95.5mm.(The circumference of a circle is equal to 0.3 meter. )
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There is no restriction about its position, but the wheel direction must be parallel to the forward direction of the matter.
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The surface of the matter should not contain organic solvent, oil, water or high temperature.
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It is easy to damage the organization and cause the counter error at the intense vibration.
3.4 HAFPERARL, R E Al i 1 5
It should pay attention to the pressure of the contact surface about the flexible material.
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Because of the uncertainty of the origin, the error of the output signal is under the range between 0 to 50 percent as power turn on.

4 3 Terminals:

RED: HF 12-24V
Power supply 12-24V
GREEN : #ijH«—PL-S %G Ikt
Output«—PL-S type without the output
YELLOW: fiith output
BLUE: 0V



